
Long Division: Larger Remainders (G-1)
SOLUTIONS

Name:

Time: Score: /

51) 3 4 3 6 8 6

− 3 2 8

1 5 6

− 1 2 3

3 3 8

− 3 2 8

1 0 6

− 8 2

2 4 0

− 2 0 5

3 5 0

− 3 2 8

2 2

: 4 1 = 8 3 8 2.5 8 52) 3 4 7 0 7

− 2 5

9 7

− 7 5

2 2 0

− 2 0 0

2 0 7

− 2 0 0

7 0

− 5 0

2 0 0

− 2 0 0

0

: 2 5 = 1 3 8 8.2 8

53) 2 6 3 1 4 1

− 2 3 0

3 3 1

− 3 2 2

9 4

− 9 2

2 1

− 0

2 1 0

− 1 8 4

2 6 0

− 2 3 0

3 0

: 4 6 = 5 7 2 0.4 5 54) 1 6 2 9 7 1

− 1 6 2

0 9

− 0

9 7

− 9 0

7 1

− 5 4

1 7 0

− 1 6 2

8 0

− 7 2

8

: 1 8 = 9 0 5 3.9 4

55) 1 9 8 5 8 2

− 1 6 0

3 8 5

− 3 6 0

2 5 8

− 2 4 0

1 8 2

− 1 6 0

2 2 0

− 2 0 0

2 0 0

− 2 0 0

0

: 4 0 = 4 9 6 4.5 5 56) 5 3 2 3 6

− 3 6

1 7 2

− 1 6 2

1 0 3

− 9 0

1 3 6

− 1 2 6

1 0 0

− 9 0

1 0 0

− 9 0

1 0

: 1 8 = 2 9 5 7.5 5

Mathematics: Division - Level 5b - German division - Set 1 35 © workulum.com

https://www.workulum.com

